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QUESTION 1

Scenario 3: 

After resolving numerous connectivity Issues throughout the various branch sites, connectivity between applications and
users is finally present- The network administrator is informed (hat during certain tests, applications are not performing
as they are expected to. Users report that call quality has not fully improved and that some of their calls either drop or
have poor voice quality where the conversation is breaking up. Other users are noticing that file transfers are slower
than expect. A group of users from a few sites have reported slowness in accessing internal and external applications. 

Exhibit. 

Which metrics can a network administrator verify in the QoE screen to determine the overall health of Underlay and
Overlay? 

A. Jitter Packet Loss, Speed. 

B. Jitter, Packet Loss, Latency. 

C. Jitter, Speed, Latency. 

D. Packet Loss, Latency, Speed. 

Correct Answer: B 
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After resolving numerous connectivity issues throughout the various branch sites, connectivity between applications and
users is finally present. The network administrator is informed that during certain tests, applications are not performing
as they are expected to. Users report that call quality has not fully improved and that some of their calls either drop or
have poor voice quality where the conversation is breaking up. Other users are noticing that file transfers are slower
than expect. A group of users from a few sites have reported slowness in accessing internal and external applications. 

Exhibit. 

Users at the Dallas Branch are complaining that downloads/uploads from Office365 are slow. Working in Teams has
been providing slow responses. The Internet circuit is 100Mbps while the MPLS Circuit is 45Mbps. Upon
troubleshooting, the network administrator has noticed the traffic is Backhauling through the Seattle hub for all internet
traffic. 

How should the network administrator resolve the issue? 

A. Leave the system as is, the gateways will resolve the issues after doing 15 minutes of link qualification. 

B. Advertise public routes to Office365 and Teams through the New York Hub. 

C. Leave the system as is, the hubs will auto-rebalance tunnels after doing 15 minutes of link qualification. 

D. Prevent the hub from advertising a default route. 

Correct Answer: B 
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After completing the branch activation activities for all required branches, the network administrator attempts to test
connectivity between the various branches and between the hubs and branches. The administrator notices a lack of
connectivity despite being certain that configurations have been complete. The administrator also observed that several
users are reporting intermittent connectivity to some of the applications they are accessing. Other users are reporting no
access to these applications. Other users at some of the branches claim they cannot get to certain public resources.
The administrator wants to ensure that all sites can talk to each other and all resources are accessible. 

Exhibit. 

A network administrator is trying to create multiple overlays on a single physical interface on an Edge. The administrator
is able to bring up only a single overlay so far, but is having trouble with bringing up additional overlays. 

What could be the possible reason? 

A. The administrator does not have the right permission to create multiple overlays. The administrator needs to have an
Operator-level privilege for this task. 

B. On the WAN overlay configuration, verify the IP address, next-hop, and the VLAN ID configuration. 

C. The licensing does not support multiple overlays on a single physical interface. 

D. Multiple overlays cannot be created on a single physical interface. Multiple physical interfaces are needed. 

Correct Answer: A 

 

 

QUESTION 4

Scenario 2: 

After completing the branch activation activities for all required branches, the network administrator attempts to test
connectivity between the various branches and between the hubs and branches. The administrator notices a lack of
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connectivity despite being certain that configurations have been complete. The administrator also observed that several
users are reporting intermittent connectivity to some of the applications they are accessing. Other users are reporting no
access to these applications. Other users at some of the branches claim they cannot get to certain public resources.
The administrator wants to ensure that all sites can talk to each other and all resources are accessible. 

Exhibit. 

The tunnel from spoke to hub is not coming up. What are the two possible reasons? (Choose two.) 

A. Spoke Edge and hub Edge are two different Edge models. 

B. Spoke Edge and hub Edge have a mismatch certificate authentication mode. 

C. Hub WAN Interface might be behind the NAT Device or firewall. 

D. Dynamic Branch to Branch is not enabled. 

Correct Answer: BC 

 

 

QUESTION 5

Scenario 3: 

After resolving numerous connectivity issues throughout the various branch sites, connectivity between applications and
users is finally present. The network administrator is informed that during certain tests, applications are not performing
as they are expected to. Users report that call quality has not fully improved and that some of their calls either drop or
have poor voice quality where the conversation is breaking up. Other users are noticing that file transfers are slower
than expect. A group of users from a few sites have reported slowness in accessing internal and external applications. 

Exhibit. 
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A network administrator wants to achieve better high-availability and network reconvergence between LAN-side BGP
Networks and the hub Edges in New York. 

What must the administrator do? 

A. Modify the Keep Alive and Hold timers to the lowest possible values ensuring the Hold timer is 3 times more than the
Keep Alive timer. 

B. Nothing, the system will auto-rebalance connections and will provide sub-second convergence. 

C. Modify the Connect and Hold timers to the lowest possible values ensuring the Hold timer is 3 times more than the
Connect timer. 

D. Modify the Keep Alive and Hold timers to the lowest possible values ensuring the Keep Alive timer is 3 times more
than the Hold timer. 

Correct Answer: B 
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